<Zahnschnitt/>

<?xml version="1.0"7>
<xsl:stylesheet version="1.0" xmlns:xsl="http://www.w3.0rg/1999/XSL/Transform" xmIns:svg="http://www.w3.0rg/2000/svg">

<!-- FRIES >
<xsltemplate name="fries">
<xsl:param name="friesdx"/>
<xsl:param name="xaZH"/>
<xsl:param name="yaZH"/>
<xsl:param name="ybZH"/>
<xsl:param name="typ"/>
<l-- ZAHNSCHNITT -->
<xsl:when test="$muster='Zahnschnitt">
<!--ohne Leiste ->
<xslif test="($typ)=0">
<svg:path d="M{$x},{Sy} v{SyaZH} h{$xazZH} v-{SyaZH} " fill="{5fill}" stroke="{$stroke}"
stroke-width="{$stroke-width}"/>
</xslif>
<!l--mit Leiste -->
<xslif test="(Styp)=1">
<svg:path d="M{$x},{Sy} v{SyaZH} h{$xazZH} v-{SyaZH} " fill="{5fill}" stroke="{$stroke}"
stroke-width="{$stroke-width}"/>
<svg:path d="M{($x)+($xaZH)}{(Sy)+(SybZH)} h{($friesdx)-($xazZH)} " fill="{$fill}"
stroke="{$stroke}" stroke-width="{$stroke-width}"/>
</xslif>
</xsl:when>
<xslif test="(($x)+(SmoveX)+($friesdx))&lt;($maxX)">
<xsl:call-template name="fries">
<xsl:with-param name="friesdx" select="$friesdx"/>
<xsl:with-param name="xaZH" select="$xaZH"/>
<xsl:with-param name="yaZH" select="$yaZH"/>
<xsl:with-param name="ybZH" select="$ybZH"/>
<xsl:with-param name="typ" select="$typ"/>
</xsl:call-template>
</xslif>
</xsl:template>
</xsl:stylesheet>
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yaZH: Hoehe der Zaehne

yaZH: Hoehe der Leiste bei Typ 1
xaZH: Breite der Zaehne

dx:  Elementbreite

<Ornamentik/>



